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Answer the Questions from any one Option.

OPTION-A
For Honours Generic/Regular
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The figures in the margin indicate
full marks for the questions.
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Paper

OPTION-A

. BOT-HG-3016/RC-3016

(Plant Physiology and Metabolism )

Answer the following questions as directed :
weTe e T frat ¢ 1x7=7

()

(@)

Which one of the following statement is
correct when a cell is fully turgid ?

(@)
(b)
(c)
(d)

DPD = OP
DPD = 0 (zero)
WP = 0 (zero)
OP = 0 (zero)

Tl o 9B @FET CFIS FRG (@A
T iore

(@)
(b)
(c)
(d)

DPD = OP
DPD = %]
WP = %=
OP = %

Who first proposed the transpiration pull
and cohesive force of water theory for
ascent of sap ?

(a)
(b)
(c)
(d)

Dixon and Jolly
Sir J. C. Bose
Noggle and Fritz
Boehm
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ST T IR AN G Toqw (FitA A
RIRCINEPG R,

(a) TSom o= St
(b) ®R (@ . 3
c) e e o
(d) <[

(iii) Which one of the following is not an
essential micro elements ?

(a) Boron

(b) Iron

(c) Manganese
(d) Potassium

fACHIe (@G GTe SRS Seifas et
DETiRe

(@) I

(b) SN2

(c) GRS

(d) =oiaEN
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(iv) Who first coined the term photoperiodism ?
(a) Curtis and Clark
(b) Garner and Allard
(c) Miller and Skoog
(d) Salisbury and Ross

@A (AN FAW ToreRafee (Rifdwte
aifsfera) *iwht evem fHfes 2

(@ 5 oS FE
(b) AR SR GF e
(c) TR == Fsl
(d) CFFR o )

(v) Swelling of wooden doors and windows
during rainy season in due to
phenomenon. (Fill in the blank)

IR e 107 qae Fizat RESE esEd a1
of&1T A A | (W) AR 479 F9)
(vi) Indole-3-acetic acid is belongs to

group of plant growth regulators.
(Fill in the blank)

3e-3-4750d AbT (R (sii5q Sfen
e FaEs| (3Tl 312 279 F91)
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(vii) In Calvin cycle, how many ATP molecules
are required to produce one molecule of

glucose. (Answer directly)
GGl 2 S I[P BRACT (P 5o (DB
ATP SIJ (IS | (zersF ©eF f731)

Write short notes on the following: 2x4=8
(a) Importance of osmosis in plants

(b) Role of phosphorus in plant growth

(c) Co-enzymes

(d) Vernalin

= emPTE 59 G o s

(a) Tigrs wFjfod w3y

(b) e Yoo T g

(c) FRGLEHF

(d) ST

Answer any three of the following questions :
5x3=15

(@) “Cell is an osmotic system”. Justify the

comment.

(b) Write notes on various agents of
biological nitrogen fixation.
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(c) Theory of starch = sugar interconversion
in stomatal opening and closing.

(d) Cytochrome pump hypothesis.

(e) Describe Munch hypothesis of
translocation of solutes.

Weste R ol e Teg fra s

(@) “FE GF 4R FPYS ©F —IALS! 2 T4 |

(b) ¥ZpLER (TRE Bfossare o @R [/feq
QG [E v @

(c) 19TF IJ WE (AT eAfFare IOAR = *FEl
SRR g a1 |

(d) BIOIE =9 TeqM |

(e) (oRET ARG Jg ToqW I 1 |

4. Answer any three of the following questions :
10x3=30

eRe faree fofasr et Tel f&fRat ¢

(a) What is enzymes ? Describe the modern
system of enzyme classification with

suitable examples. 2+8~=10
TS W 35 o7 2 ST Sy (=il
fRerem Twrze sg AW FA|

(b) Write a short note on Kranz anatomy
with suitable diagrams. Describe in detail
the C; cycle of photosynthesis. 4+6=10
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(TG S50 FACE BI-AZ by @t (Gial
o741 | ACARTAETNR C, 5P 91 51 |

(c) What do you mean by C; and C, plants ?
Mention the differences between C; and
C4 plants. 5+5=10
C3 ©I%: Cy S Jfoieat & 3@l 1 C; O Gy
Tfgns e Al ANLPRTER FfeRm a1 |

(d) Give an schematic representation of
cytoplasmic respiration. Describe how
oxidative decarboxylatlon of pyruvate into
Acetyl Co-A. 5+5=10
@I AT S (@D FZTS ToAZoH
9 | e I [Reaiema a|r siksfes aves
A (AT “«bbiRE & iz 9@
(Acetyl Co-A) 2/gS = I 31 |

(e) What is auxin ? Discuss the physiological

role and functions of auxins in plants.
2+8=10

w52 Sfeore wffme 7 Redm g
% I Iz ol |

(f/ What do you mean by photoperiodic
induction ? Describe in detail the
mechanisms of photoperiodism. 2+8=10

feie Tile i 3 3& 2 Tifesrs afsiram
offra Rwike iR 397 F=41 |
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OPTION -B
Paper : BOT-HG-3026

( Environmental Biotechnology)
1. Answer the following questions: 1x7=7

oo WAl emMicaes Ol i ¢

(a) Name one secondary pollutant.

951 (T 2vERd i ferl |

() Name a Ramsar site of the state of
Assam.

T SN bl TR B A e

(c) Name one NGO from Assam that work

in the field of environmental conservation
and ecology.

AR T TR R R (e I
| S GO ([@OIFIRT AR A

leads to reduction in the dissolved
oxygen.

(d)

T TS TAIgS SIHHEH T A |
(e) What is the full form of COD ?
COD 3 754 w9l 52
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(/) From which district the Chipko
Movement started ?

@I TSR~ ol Sicwem sies t2fee 2

(g9 Where is the headquarter of United
Nations Environment Programme (UNEP)
situated ?

BRI ARG IOPH (UNEP) T e
F© SRIFO 2
2. Write short answers : 2x4=8
o 5T T Al 2

a What are the various components of acid
rain ?

«foT /YR [fer Toame $ fFe

(b) Write two disadvantages of trickling filter.
i oo 7oy SopfRdt fova |

(c) What is air quality index (AQI) ?
IR wefied FHIFIT (AQI) T2

(d) What is environmental ethics ?

sif{E Hfewe! @2
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3. Answer any three of the following: 5x3=15
RS e fofinrT Sea B o

(a) Give a brief account of indoor air
pollution.

W] fewq Ay evEe o3 Reel fa

(b) What are the effects of increased carbon
footprints ?

I FHET Jfaw eror F feo

(c/ What are the positive and negative
impacts of trade on the environment ?

ARG 89 e SRADT e FRoasT
oeRr 5 59

(d) Describe the process involved in an
oxidation pond.

ST 739 wive sifemm 39 )

(e) State the functions of the Central
Pollution Control Board.

(TR A et 36 <BI-emTg S <o |

3 (Sem-3/CBCS| BOT HG 1/2/RC/G 10 Contd.



4.

Answer any three of the following : 10x3=30

Rieeren fofor e Tex sl o

(@)

(b)

(c)

()

What is greenhouse effect ? What are the
major greenhouse gases? State few
measures to reduce emission of green-

~ house gases. 3+2+5=10

CitT o2 2R &2 2w (oW 97 (AR &
Rre oo 9= core Fofsm 21 w19 A R
IR T =14

State few major causes for environment
movements in India. Give an account of
the Narmada Bachao Andalon. 4+6=10

SIS AT SR R 2l Pl B
3R | Tl IS ST [l |

Give an account of International NGOs

that work in the field of environment.,
10

WWWWW@?@@TWW
et

What is Kyoto Protocol ? Describe the
salient features of the Kyoto Protocol.
' 2+8=10

&% oowa [0 AT oo vem Srmacasy
RFBPTR I = |
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() What is bioremediation ? Give an
account of molecular approaches in

bioremediation. 2+8=10
TR Ty REaReian) e tor dfewke
Sifde smmfee Resa @

(7 Give an account of the Rio declarations
on environment and development. What
were the important outcomes of the Rio
Earth Summit 1992 ? 7+3=10

AR SR T @eige e (AT
Rt | sva v Rer el gfiibe syl
T & wifgere

—————
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